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1. ZLHAHE (X719 ~ SEW)
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0.5kKM

T2 = (0.5/10+0.5/15+1.0/35+1.0/35+5.4/35+5.4/35+0.2/10+0.2/15) x 60 =

10 /15

0.2KM

SR K| SFAHE

1.0KM

T2 = (0.2/10+0.2/15+2.7/35+2.7/35) x 60 =

10 /15

35/35

2.7KM

35/35

ret

L = 7.10 KM
5.4KM 0.2KM
FERSERS j=ksggn!
35 /35 10 /15
28.94 MIN
L = 2.90 KM

11.26 MIN



L = 9.00 KM
1.4KM 2.0KM 5.4KM 0.2KM
EH=4AIE L aAe SEAA FERS RS EERS S
20 /25 30 /35 30 /35 10 /15
T2 = (14/20+1.4/25+2.0/30+2.0/35+5.4/30+54/35+0.2/10+0.2/15) x 60 =
37.05 MIN
4. Z2 =24k (M| =&k ~ Si%rE D)
S EEIE  AIIE ATA 2 A0t 107
S 1.5KM WEE=-3m] 155K oA 430K - 550N Mol 1
30 /35 A el 30 /35 50 /55 25 /30
(32.5) (32.5) (52.5) (27.5)
PR
gel i 2.6KN - 3.6KN . 36 90KM - 87 .60KM A G
60 /60 60 /60 60 /60 60 /60
ME IC 25. OKN AN >4 HYEH 02KV AT
30 /35 30 /35 10 /15
(32.5) (32.5) (12.5)
T2 = (1.50/33+15.50/33+43.00/53+5.50/28+2.60/60+3.60/60+36.90/60+87 .60/60+95.00/33+5.40/33+0.20/13) x2x60 = 811.09 MIN

5. S (HTRD ~ HT
nl

T2 =

11.26 MIN



6. Z4X
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T2 = (0.1/10+0.1/15+6.8/30+6.8/35+41.5/30+41.5/35+5.4/30+5.4/35) x 60 =

2.5KM 6ot 10. 9KM
30 /35 30 /35
(32.5) (32.5)
gsUEE=R SR
5.5KM OrA IC 76.40KM
60 /60 60 /60
5.4KM
Ay
30 /35
(32.5)

41.5KM

|'D

OB

30 /35

ret
o
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32.6KM oD oUC
60 /60
(60.0)
SLNEEZ
36.90KM HE IC
60 /60
744.99 MIN
L = 53.80 KM
5.4KM i

200.46 MIN




T2

(0.1/10+0.1/15+0.2/30+0.2/35+41.5/30+41.5/35+5.4/30+5.4/35) x 60 =

L = 47.20 KM
- SHA(SLHOIN) : 2JAE &=HA AES 114
R 0.1KM LLE! 0.2KM A=A DA 41.5KM S 5.4KM p—
= 10 /15 = al=] 30 /35 (i gL | | 30 /35 oo o 30 /35 tod o

175.94 MIN



